WS#7-4
The Area of a Triangle

1
1. The general area formula for a triangle is A =T bh s special cases are shown helow:
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Derivation: o Find the area of the triangle: ¢ =8, =6, ¥ = 30"
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Dcrivation: p. 551-552

Find the area of the triangle: « = 4, b=5¢=7
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2. Find the area of the shaded region enclosed in a semicircle of diameter 1

O inches. The length of the chord
AB is 8§ inches. [
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3. To approximate the area of 2 lake, a surveyor walks around the perimeter of the lake, taking measurements
shown in the illustration. Using this technique, what is the approximate area of the lake?
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